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QUESTION 1

Which statement is valid for DDL replication? 

A. GoldenGate User Exits are not supported for DDL. 

B. Source and target objects can be different. 

C. Target objects can be different from source when using SOURCEDEFS in Replicat. 

D. It can use WILDCARDRESOLVE IMMEDIATE. 

Correct Answer: B 

 

 

QUESTION 2

Which database setting for the Oracle 11.2.0.4 database is required to enable Oracle GoldenGate? 

A. ENABLE_GOLDENGATE_REPLICATION=true 

B. ENABLE_STREAMS_REPLICATION=true 

C. Configure the STREAMS_POOL_SIZEdatabase parameter 

D. ENABLE_DATABASE_REPLICATION=true 

Correct Answer: A 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIORA/setup.htm#GIORA983 

 

QUESTION 3

You need to locate the position of the oldest unprocessed transaction by using the command INFO EXTRACT
SHOWCH.How should you proceed? 

A. Use the Read Startup Checkpoint. 

B. Use the Read Recovery Checkpoint. 

C. Use the Write Startup Checkpoint. 

D. Use the Read Current Checkpoint. 

Correct Answer: B 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/ wu_ogg_checkpts.htm#GWUAD968 
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QUESTION 4

Which GLOBALS parameter is required to initially enable monitoring? 

A. JAGENTMONITORING 

B. ENABLEMONITORING 

C. ENABLEOEMMONITORING 

D. CHECKMONITORING 

Correct Answer: B 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWURF/ gg_parameters053.htm#GWURF474 

 

QUESTION 5

Your Extract process, which is using an Oracle database, has stopped with uncommitted transactions. How should you
guarantee an efficient recovery after Extract has stopped? 

A. Use the FORCETRANS and PURGEORPHANEDTRANSACTIONS parameters to control the bounded recovery
feature of the general Extract checkpointing facility. 

B. Use the WARNLONGTRANS parameter to control the bounded recovery feature of the general Extract checkpointing
facility. 

C. Use the BR parameter to control the bounded recovery feature of the general Extract checkpointing facility. 

D. Use the PURGEORPHANEDTRANSACTIONS parameter to control the bounded recovery feature of the general
Extract checkpointing facility. 

Correct Answer: C 

Reference: http://www.oracle.com/technetwork/database/features/availability/maa-goldengate-rac2007111.pdf 
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